Who Cares about Phosphate? Final Group Activity Grading Rubric (total possible is 15 points)

Step 1 – List of stakeholders +3
	3
	2
	1
	0
	Total

	Students listed at least 8 total stakeholders
	Students listed 6–7 stakeholders
	Students listed only 5 stakeholders 
	Students listed <5 stakeholders
	


The instructor may chose to give an extra point to students who discuss the global impacts (as well as local) and to those who mention impacts on future generations (as well as immediate impacts).

Step 1 – Benefits and/or harm to stakeholders, given business as usual +5
	5
	4
	3
	2
	1
	0
	Total

	Answered all of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for all stakeholders.
	Answered all of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for most stakeholders.
	Answered only some questions: What happens? Why? Under what conditions? In what part of the lifecycle? for all stakeholders.
	Answered only some of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for some of the stakeholders.
	What’s written in the table is vague and doesn’t show comprehension of the material, but something is written in all five squares.
	Information for two or more stakeholders are missing.
	



Step 2 – Alternative plan +2
	2
	1
	0
	Total

	Clearly writes the alternative, and gives a brief explanation of why that was chosen.
	Writes the alternative, or circles their chosen answer on the list.
	No plan is given.
	



[bookmark: _GoBack]Step 3 – Benefits and/or harm to stakeholders, assuming the alternative plan is enacted +3
	5
	4
	3
	2
	1
	0
	Total

	Answered all of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for all stakeholders.
	Answered all of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for most stakeholders.
	Answered only some questions: What happens? Why? Under what conditions? In what part of the lifecycle? for all stakeholders.
	Answered only some of the questions: What happens? Why? Under what conditions? In what part of the lifecycle? for some of the stakeholders.
	What’s written in the table is vague and doesn’t show comprehension of the material, but something is written in all five squares.
	Information for two or more stakeholders are missing.
	



Total points	__________
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